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Short answer questions/problems

Use the following information and the attached page from the Wall Street Journal to answer questions 1 and 2 below.

Assume that on October 18th you sold 7 call contracts on JP Morgan Chase that have an exercise price of $20 and which expire in November.  Assume also that your sale was the last trade of the day on the 18th.
1.  What cash flow occurred when you sold the calls?  (Use a “+” to indicate an inflow and a “-“ to indicate an outflow).
+595 = +7(100)(.85)

2.  Assume that when the calls expire, the stock price for JP Morgan Chase has risen by $1.30 per share.  What is your overall profit or loss the calls you sold on the 18th?  (Use a “+” to indicate an overall gain and a “-“ to indicate an overall loss).

+406 = +595 – (20.27 – 20)(7)(100)

3.  Assume you own a call on Microsoft.  Assume also that yesterday Bush announced that no longer has any plans to invade Iraq due to their compliance with UN resolutions.  As a result of this announcement, the expected variance of returns on all stocks (including Microsoft) has fallen.  How has this reduction in the variance of returns on Microsoft affected the value of your call?

Fall

4.  As part of creating artificial puts on IBM, you have short-sold IBM stock.  What transaction is involved in closing out this short-sale position?

Buy IBM stock and return the stock to broker
5.  Assume you have just purchased shares in Martha Stewart Living Omnimedia Inc. What kind of options transaction is this most similar to?  (Buying a call, exercising a call, selling a call, having a call exercised against you, buying a put, exercising a put, selling a put, or having a put exercised against you).
Buying a call;  Also acceptable:  exercising a call, having put exercised against you
Use the following information for questions 6 through 8:
You have invested money in 4 different assets as follows:
T-bills:  lowest return but no risk
Kellogg:  low expected return and low standard deviation of returns

Ford:  moderate expected return and moderate standard deviation of returns

Dell:  highest expected return and highest standard deviation of returns

Answer questions 6 through 8 on the same graph.  Be sure to clearly label which part of the graph goes with which question.

6.  Sketch a reasonable graph of all the possible combinations of expected return and standard deviation you could achieve by combining only Kellogg, Ford, and Dell into a portfolio?
Ford is in the middle, Dell is up and to the right, Kellogg is down and to the left.  The feasible set curves to the left of the 3 points.
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7.  On your graph, identify the optimal combination of Kellogg, Ford, and Dell.
Point of tangency between feasible set and line extending from risk-free rate

8.  On your graph, identify the return and standard deviation of returns that you can expect if you invest 80% of your funds in T-bills and the other 20% in the portfolio you identified in question 7 above.
Point on line that is fairly close to the T-bill intercept.

9.  Assume you decide to invest 40% of your wealth in Citigroup which has a standard deviation of returns of 62% and 60% of your wealth in Southwestern Bell which has a standard deviation of returns of 41%.  Assume also that the correlation between Citigroup and Southwestern Bell is 0.2.  Without doing any calculations, simply list the equation or equations you would use in calculating the standard deviation of returns on your portfolio.







10.  Assume that the market risk premium is expected to be 9%, that the return on T-bills is 2%, that the expected return on Best Buy stock is 18%, and that the beta of Best Buy is 2.3.  Calculate the Reward to Risk ratio for Best Buy then state the price pressure (pressure for the price to rise or fall) on Best Buy’s stock?  
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  => RTR too low, so pressure on price to fall so E(r) will rise
Problems/Essays

1.  In order to calculate the return you should demand on Merck stock, you have collected several bits of information.  You have found that the expected return on Merck stock is 14%, that the expected return on the Standard & Poor’s 500 (S&P500) of 12%, and that the return on T-bills which is 1.6%.  The standard deviation of returns on Merck is 38% while the standard deviation of returns on the S&P500 of 22%.  Finally, you have determined that the correlation between Merck and the S&P500 is 0.62.  
a.  What is the covariance between Merck and the S&P500?

b.  What is Merck’s beta?

c.  What is the required return on Merck’s stock?

a.  518.32 = (.62)(38)(22)

b.  
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c.  12.73 = 1.6 + (1.071)(12 – 1.6)
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2.  You are considering purchasing a single put contract on Intel with an exercise price of $17.50 that expires on December 20th (56 days from today).  If you don’t exercise the put, then you plan to hold Intel stock for 2 years (until October 25th, 2004).  Based on the following information, what is a fair price for this put contract?
Price and value information on Intel:

Current market value of Intel’s assets on a per share basis:  $14.85

Expected market value of Intel’s assets on a per share basis on December 20th, 2002:  $16.50

Expected market vale of Intel’s assets on a per share basis on December 20th, 2004:  $22.76

Current stock price for Intel:  $15.24

Expected stock price for Intel on December 20th, 2002:  $17.93

Expected stock price on October 25th, 2004:  $24.08

Standard deviation of returns on Intel:

On the market value of Intel’s assets over the next 56 days:  22%

On the market value of Intel’s assets over the next 2 years:  34%

On Intel’s stock over the next 56 days:  55%

On Intel’s stock over the next 2 years:  70%

Rates of return (all are APRs assuming continuous compounding):

T-bill maturing on December 5th, 2002:  1.65%

T-bill maturing on December 12th, 2002:  1.67%

T-bill maturing on December 19th, 2002:  1.66%

T-bill maturing on December 25th, 2002:  1.68%
T-bond strip maturing in October, 2004:  2.13%

T-bond strip maturing in November, 2004:  2.28%

Intel bonds:  6.93%
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=> Fair price = 2.80(100) = $280
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